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100
12
28
2.1
0.8 1
1 0.5
1.5 20
0.5
1.3 20
2.1
19 20
8 9 10 1 12 1 2 3 4 5 6 7
99.0| 99.1| 98.6| 99.9| 99.7| 102.3| 101.9| 1002 | 99.0| 962 | 97.7| 98.0
99.6 | 99.2| 99.0| 99.7| 99.6| 102.3| 99.8| 99.4| 989 | 967 | 964 | 99.5
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series{
file=" "
start=2000.1
span=(2000.01,2007.12)
period=12
}
transform{ function=log } #
regression{
variables = (tdlnolpyear Ipyear)

H

user =(m-end) #
usertype= (holiday)
start=1997.1
file = " "
}
automdl { } #ARIMA (100)(110)
estimate{
save = mdl
}
forecast{
maxLead=60
}
outlier { } # 12 12
x11{
sigmaLim=(2 3)
seasonalMa=x1ldefault
appendFcst=yes
save=(d10 d11 d16)



t
0.0209 3.01
0.0076 5.46
-0.0013 -3.86
0.75
-0.25
-1
1
0
5/2><
1 2 3 4 5 6 7 8 9 10 11 12
X11 97.4 93.1 | 103.0 | 104.1 99.4 95.5 99.8 | 100.5 94.3 99.7 96.3 | 117.0
X12-ARIMA 97.3 95.0 | 103.8 | 104.2 98.8 96.8 98.3 | 100.0 94.6 98.4 96.8 | 116.9
20 8 29
(X12-ARIMA  X11 20 30)
1 19 1
X11 /2

(X12-ARIMA Ver.0.3

1 19 12 20




